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Na,Si0, + CO, 1

Co, CaCO, + Si0, ==CaSi0, +
co, 1 .

A
H,Si0, H,Si0, =—=H,0

+ 510,
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——H, Si0,(
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( Mg,Si, 04 * nH,0) o
( Mg,Si,04 * nH,0)
_ (

HCI)
“ " MgCO;)

(3) SiC Si
Si0, . 20. 0 g SiC
NaOH 0.1 mol H,

SiC 11.4 ¢ 1L H,
(1) ® 1357K
SiHCl, Si  HCl SiHCl, + H, ==Si + 3HCI;
@SiHCl, H -1 H,0 +1 H
H, SiHCI, +

3H,0==H,Si0, | +H, T +3HCI; SiHCl, H,

SiHCl, . @SiC
Si HCI
HF B.C,
(2)
2MgO - 3Si0, * nH,0
MgO  HCI
2MgO - 3Si0, * nH,0 + 4HCl ===2MgCl, + 3Si0,
+(n+2) H,0; MgCO, +

2HCl ==MgCl, +CO, 1 +H,0
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(3) SiC.Si.Si0, Si  NaOH  MnCl, +Cl, T +2H,0 MnO,
H, Si +20H™ + H,0 Cl,;
Si0:” + 2H, 1; Na,SiO, Si Sio, 1 mol MnO, 4 mol HCI 1 mol MnO,
Si~2H, T Si  0.05 mol SiO, 2 mol HCI;
(20.0 g—0.05 mol x28 g/mol —11.4 g) /60 g * 1 mol MnO, 4 mol HCI
mol ' =0. 12 mol ¢( Na,Si0,) =0.17 mol/l L =
0.17 mol * L™, HCI
1.Cl, 2.
2Fe +3Cl, o
—=FeCl, ’
Cu + Cl, ==CuCl,, H, Cl, .
0, : C1, + H,0 ==HCI + HCIO;
. ClL, +2KI =—=2KCl + I, 1 Cl, + H,0 ==H" +Cl~ + HCIO.
KI - ° : C1, HCIO. H,0;
A + - -
MnO, + 4HCl == “H".Cl".ClO . 1.
cl, 1 2 Cl,
Cl, +2Fe**===2Cl" +2Fe**
Fe?* KSCN .
Cl, Fe’* +3SCN Fe( SCN) 5;
FeCly FeCl, FeCl,
a Cl, + 2KI ==2KCl + I, 5Cl, + 6H,0 + I, ==10HCI +
: 2HIO,
HCIO HCIO
CaCO;KHCO, 2H* +CaCO, Ca’* +CO, T +H,0
H+
2H* +HCO; ==C0, T +H,0
H* HCIO H* HCIO ; pH pH
Mg Mg +2H*==Mg>* +H, |
H* Cl,
Mg + Cl,==MgCl,
AgNO;, al- Ag* +Cl-=—=AgCl | AgNO;
Cl, + H,0 ==HCl + HCIO  HCl + NaOH NaCl + H,0 HCIO + NaOH
NaClO + H, 0 Cl, +2NaOH NaClO + NaCl
NaOH H* HCIO +H,0
cl,
2Cl, +2Ca( OH) , CaCl, + Ca( ClO) , +2H,0
HCIO HCIO HCl 2HCIO ==2HC1 + 0, 1
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3. NaClO
“84” ‘84”7
( ) NaClO
HCI1 Cl, NaClO +2HCI NaCl + Cl, T
+H,0,
2 NaCN
: MNaCN NaClO NaOCN
NaCl; @ NaOCN NaClO Na, CO; -
CO,.NaCl N,. HCN ; HCNL.HOCN
N o :
() (CN), Cl, - (CN),
NaOH N H,0.
(2) 100m’  NaCN 10.3 mg/L
NaClO  ¢f
4 ) NaCN 0.5 mg/L
(3 ° ?
Cl, . NaClO,
o )
(1) Cl, NaClO.
NaCl.H,0 CI  CN NaCNO. NaCN
NaOCN NaCNO NaOCN
NaCN.
(2) NaCN
NaClO NaCN 100 x 10°L x
(10.3 mg/L -0.5 mg/L) x10~* g/mg +49 g/mol
=20 mol C +2 +4 N
-3 0 1 mol NaCN
5 mol 20 mol NaCN 100 mol 1 mol
2 mol NaClO
100 mol +2 x74.5 g/mol x4 =14900 g.
(3) I mol NaClO, Cl- 4 mol
1 mol Cl, Cl™ 2 mol 1 mol
NaCloO, 2 mol Cl, 90.5 ¢
NaClO, 142 ¢ Cl, * 7=
142/90.5=1.57.
1.
CS, CS,

e5] .
2.
A A
Fe +S FeS 2Cu + S=——=Cu,S
: Hg + S=—=HgS
3. 80,
@S0,
S0, SO, + Ca0
A
CaSO0,; S0, Ca( OH) ,
+50, CasSO, |  H,0 S0,
CaSO, + SO, + H,0 ==
Ca( HSO,) , co,
COo, SO, . S0, CaCl,
BaCl,
SO, + H,0 ==H,S0,
. @S0, +
4 S0, +
2H,S==3S| +2H,0; 280, + 0, =—
250,.50, + H,0, =H,S0, . KMnO,(H")

( ) : 550, + 2KMnO, + 2H,0
——K,S0, +2MnSO, +2H,S0,
S0,  €O,. CO,
: CO, + Ca(ClO), + H,0 == CaCO, | +

2HCIO SO, 1280, + Ca( CIO) ,
+H,0 CaS0O, +2HCI + H,S0,. &
HCl10.0,.H,0,.Na,0,
S0, CO,. SO,
S0, ;
S0,
4.80,
22.4 L/mol o
5.
“© ” 98%
18.4 mol/L

H* S0;”
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H,S0, - D
H,S H,
. S0,
H,SO, S0,. @
e
Cu
A
2H,S0,( ) +Cu=—=CuSO, +S0, 1 +2H,0
H, SO0, +6
1 mol Cu 2 mol H,SO, 1 mol H,S0O,
1 mol Cu; 1 mol Cu
2mol H,S0,
H,SO,
A
2H,80,( ) +C =280, T +
CO, 1 +2H,0 H, SO0,
H, SO,
H,S0, o
6.50;"
Ag" SO
BaCl,
BaCl, SO; .
7.
pH 5.6 CO, pH
7o S +0,=—=80, 250, +
0, = 250, SO, + H,0 =—=H,S0,; S

+0, ==50, SO, + H,0 =—=H, S0,
0, —=2H,50, .

2H,S0, +

SO, +2NH, + H,0
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; B ; SO,
64
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1.
N, +3H,
2NH, N, +
0, ==2NO 2NO + 0,
==NO0, 3NO, + H,0 ==2HNO, +NO.
2.
@ 1
700
NH, :NH, + H,0 ==NH, * H,0
——NH, +OH" NH, H,0
NH, * H,0 NH, * H,0
NH, « H,0
NH,. @
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NH, + HCl —
NH, Cl NH, + HNO,
——NH, NO,
. ® NH,
-3 4NH, + 50,

—=—=4N0 +6H,0

N, +3Cu +3H,0;

o

A
:3Cu0 +2NH, ==

:4NH, + 6NO ====5N, + 6H,0.

8NH, +6NO, ==—==7N, + 12H,0

A
NO NO,

£ 3Cl, + 2NH, (
) ==N, +6NH,Cl.

6HCI1.3Cl, +8NH, (
3.

N N,;
) :N2 +

A
) NH, Cl ==NH, 1
+HClI T (  NH, + HCl==NH,Cl
) NH,Cl
IZ
A
NH,HCO, ==NH, T + H,0 +CO, T .
A
@ :NH,NO, + NaOH ==NH, 1 +
A
H,0 + NaNO, NH, " + OH ==NH, 1
+H,0
NH, « H,0.
NH,/
NaOH
NH, - 2NH,Cl +
A
Ca( OH), CaCl, +2NH, T +2H,0
A
N NH,
CaCl, 8NH, + CaCl,
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4.NO NO,
NO
(0(0)
NO, NO,
NO, HNO, NO,
NO,
NO
NO NO, N
NO, HNO, 2NO +0,
=—=NO, 3NO, + H,0 ==2HNO, + NO
NO 4NO, + 0, +2H,0 —=
4HNO, NO,
4NO +30, +2H,0 =—=4HNO,.
5.

@ 4HNO,( )
==4NO, 1 +0, 1 +2H,0

NO, 0|
+5
N Cu
Cu +4HNO,( ) Cu( NO,) ,
+2NO, T + 2H,0; 3Cu + S8HNO, ( ) ——

3Cu( NO,), +2NO 1 +4H,0 Cu

NO, NO.

- Fe
Fe HNO,
Fe( NO,), + NO T +2H,0
3Fe + SHNO, ==3Fe( NO,), + 2NO 1 + 4H,0

HNO,
Fe +4HNO,

Fe( NO,), NO; H'
HNO, Fe** Fe'*,
HNO,
HNO, C
A
C +4HNO,( )=—==CO, 1 +4NO, T +
2H,0.
3:1 Pt Au. ( 12018 —01 —24)



